<1 D) M AHCE LNBSTIONS 8 ks
For each question from 1 to 28, four options are given. One of them is the comect answer, § .
cholce in thie bookiet and shade the correct oval (1, 2, 3 or 4) on the Opfical Answer Shez? m;ﬁ'

L

Y

1. Which one of the Jollowing diagrams correctly shows the development of a flowering plant?
{1

@

(3)

4

fertiisation \pianl
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2. Which one of the following corectly states the male and female reproductive celfs in humans?

M
@

@

(4}

{ Male reprodiictive colf Femdamm&wﬁveoa!
___spem egy cel
pollen grains ondtes
polian graing ' A eyg colt

%mmaommmuﬁmmmaammmsam.mwnmmm

her observation in the diagram shown below,

Which one of the following comractly explains her obsarvation of the stem after one week?

(1)

@)

{3)

“@

Food cannot be transported from the rools to the leaves o food Is stored st the part of the

memmwmmmammmmbmammdm
stem above the cut. ) ~

wmmmmmmmwmwmmeswmumamm«m

Water cannot be transported from the leaves 1o the roots 50 water is stored at e part of the
stem above the cut,
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4, The graph below shows the chan in Joshua's heart rate before, during : »

Heart rate (boats per minuls)
t
120
110
100]
9D
70}

)] PointD Point £
@ PointD Point
3| - Ponte Point F
@ | PontF | PointH

Page 4cf18

www.geniebook.com


Asyikin Latiff


5.

Study the diagram of_ihecell beiow carefully.

Which of tha following shows the corect fisnclion of parts, X, Y and 27

(1)

(b4

3

(4}

www.geniebook.com
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6. mmwm%mdanmmmmmmrem&iﬁsobaemﬁonsinme
 diagram shown below. o

Nymoh

Mm:ﬂao&mmﬁ«.s.hemmem@mm

A The insect reproduces by laying eygs.
B Thskzsectmnuwsdwhgiwnmphswge.
G mmmmmmmammm

Which of his stalement{s) is/are comect?
(1) Bony

(2) AandConly

(3) BandConly

4) ABandC
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7.

Yhe?ifeqyelacfapms shown in the diagram below.

=3

Which of the following comectly describes the possible observations at stages E, F and &7

(1}
(2
(3)
“)

E

F

G

fruit appems

flower appears

root and shoot appear

rootand shoot appear |

_Initappears

flower appears

Sower 800

| rootand shoot appear

fruit appears

The diagram below represents the human digestive system.

Which paris of the digestive system produce digestive juices?

8 and D only

A, B and E only
A, Cand Donly
C,Dand E only
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A 1t gives the body its shape. '
B Hprofocts some organs inthe body,

C it canies digssted food 1o all parts of the body.

D It works with the muscular system to enable the body to move,

Which of the siatements made by Geraldine are ine?

{1) AandBonly {2} CoandDonly
(3 A,BandDonly (9 A CandDonly

10 Study the diagram below. P, Q, R and S represent four different processes thatinvoive changes in the

Y
&

wrudmfmmm. P, Q, R or 8, toke place at 3 fixed temperature?

{1) PandRonly {2) P.QandSonly
{3) Q,RandSonly 4 PQRandS
Page 8 of 18
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1. Lindy set up an experiment to ooliect water in the basin, as shown in the diagram below. She placed
the set-up under the sun for two hours.

-
| tank

500mi of saltwater at room temperature

She observed that there was 100mi of water collected in the basin after two hours.

Which one of the following changes to the set-up will enable Lindy to collect the most amount of
water in the basin?

{1} lnaaasetbauﬁdthofﬁmbash
{2)  Decrease the width of the basin,
(3) increase the amount of saltwater.
(4) Decrzase the amount of saltwater,

12, Study the diagram of the water cycie below,
X and Y are two processes that take place in the water cycle.

clouds
\\‘1.6_5. .
/, N
Y CQ\
065
water vapour S 066 rain
) po a“oﬂ%o"
T Nt
—
sea

Which of the following statements about the water cycle are comrect?

A The water vapour lost heat during process Y.

8 Process X does not take place at a fixed temperature,

4 Thers is a changs in the state of water during process X.
D Process Y occurs when there is a temparatura difference.

(1) AsndDonly (2) A, BandConly
(3) B,CandDonly {4} ABCandD
Page 9 of 13
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13.  Which one of the foliowing actions help to conserve water?
(1) Using a hose o wash the car. |
{2) Switching off the fan when not in usa,

{3)  Using aunning waler irom the tap to rinse your mouth.
(4)  Takinga 5 minuts shower instead of a bath In the fully-filled bathiub.

14, Sophie set up 4 circuits, A, B, C and D, with identical bulbs and working batleries as shown below.,

9 e (¥

+ | [+ ral n
"1,. L -1 | L=
Circuit A " Circuit B Clrouit © Clreuit D

In which of the above circufis wil the buib light up?

(1)  AsndDonly (2)  BandConly
3) A.BandConly (4) 8,CandDonly
15, Acirouit Is set up using 2 new batteries, 3 working identical buibs, B1, B2 and B3 and 3 switches, S1
and 82, as shown in the diagram balow.
— hl 5 |
@
By
| e
52
83
B2
Which of the following will aliow only B1 and B3 fo fight up?
81 82 s3
) open |  closed cosed
@] _open | open | dchosed
{3) clom‘ _ Open open
) closed closed | open
Page 10 of 18
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Jama!setwaclmm‘asshmbebw.

metal rod
F1___

He observed that all the bulbs did not light up.

Which of the following shows why all the bulbs In Jamal's circuif did not light up?

18,
@)
(2
@
@
17.

Thera is no switch in the clrcult.

There is no battery in the circuit.

The metal rod Is an electrical insulator,
There are too many bulbs in the dircut.

Jorémiah set up a circuit as showr below using 2 rew batleries, a switch and 3 bulbs,

Objects, X, Y and Z, were made of different matesials,

{1
@
(3)
()

{t—"

X

‘z“
.

&

When he closed the swilch, he obsesved that only 2 bulbs it up.
Which of the following correctly shows the most kely materials used 1o make objects, X, Y and Z?

Object X Object Y ObjectZ
wood copper iron
Page 11 of 18
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18.  Ramon set up the circuit as shown below. All 4 bulbs Bt up,

i

Q

R 8
After some tims, 1 of the buibs fused. As a resul, the rest of the bulbs did not fight up,
Which bulb had most kkely fused?

h # 2 Q
3 R 4 s

18.  The dagram bdwﬂm.ammvamﬂm.zmg. batteries and identical bulbs, A, B, C and
D. The switch can be dlosed In 2 differant positions

Position 1

& ] 1
9 4

Which one of the following is cormect based on the position of the switch?

a®_ Aé - . P‘”;“l PR

&

Bulbsthatlitupwhen | Bulbs that it up when
switch is at Posiion 1 | switch is at Position 2
o) A BandC | B,CandD
@ ABandC A, CandD
@1 Acewp A BandC
4 ~ ACendD B,CandD
 Page 120f 18

www.geniebook.com


Asyikin Latiff


21.

Mel Li set up the circuit as shown below.
i

Which of the foliowing can Mei L do to increase the brighlssess of the bulbs?

A Remove one batlery.

B Al one more bulb In sesies.

C Addd one more battery In seres, :
> Arrange the bulbs in paraliel to each other.

(1) AandConly (2} CandDonly
(3) B,CandDonly : (44 ABCandD

Ahmad set up 4 circuits with different arrangements of working identical bulbs and batteries. All the
bulbs & up.

il fltl——
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22,

23,

Pei Xin mads the following statements.

B Use electical equipment with exposad wires.
Cc Do not touch the switch when your hands are wet.
3] uevettrymapakmhﬂtydeczﬁmleqtﬁpmatywmﬂ.

{1} AandBonly {2) CandDonly
(3} A CandDonky 4 ABCaxdD
Study the flowchart below,

Start

¥4

Based on the above flowchart, which one of the folfowing best represents X, Y and Z?

X —y Z
) cofies __emser waler vapour
¥ | owyen | @ mk marble
@ shadow | walervagowr | tea
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24,

Johin filled a container with water as shown in Figure A below. He then gently fowered a rock into e
container and the water that overfiowsd from it was collected in @ meastring eylinder a8 shown in

Figure B,

Based on the above experiment, which one of the following can John conchude?

{1) Malter has mass,

(2) Maltaefwcupks space,

(3) Solids have a definite shape.
{4) Ligulds cannct be compressed.
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Study the diagram below and answer Quastions 25 and 26.

The diagram below shows Mr Rahim performing a
sereen and the audience walches the pippet

25.

Using different materdals for his

e TS .Ei;‘-‘-- TaLA Ta e

shadows.

dak

. -

Which of the foliowing explains how the dark shadows and different coloured shadows were formed?

Allows some fight to pass | Does not aflow fight to pass
through through
{1 screen puppet
{2 puppet screen
(3) puppet and screen puppet
@ puppet puppst an screen
Page 18 of 18
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26. wmmmmammﬂmwmmmmmnmw@amm

and the fight sousce.

screen puppet _ Bght source
Which ofmefo!fowmg action(s) would allow Mr Rahim to formi a bigger shadow of the puppst on the
screen?

P Move the puppet closer to the screen.
Q Move the puppst closer to the light sousce.

(1}  Ponly 2) Qonly
3) PandRonly (44 QandRonly
27.  Viknash put some ice cubes on a metal fray as shown in the diagram below.

icocubes

7N

ARer 10 minutes, he observed that the ice cubes had melted and the metal fray felt cold.
Which of the following statements corectly explain Viknash's observations?
A Themetal fray lost hoat to the lce cubes.

B Theice cubes lost heat to the metal tray.
C  The lce cubes gained heat from the surroundings,

(1) Aonly 2 Bony
@) AandBonly 4)  AandConly
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28, Ruoling conducted an memmmmomwnmﬁammgmammaq

identical emply cans made of different matedals, W, X, Y and 2, under direct sunlight.

thermometers
Y Zz
She recorded the temperature of the aihﬂwmmﬁm.asﬂmhhhblebm
__Temperature of air In the cans (°C)
Tlme{min) w X Y 4
0 28 2 28 28
10 29 30 2 29
20_ 30 33 35 2
30 3N 35 36 34

Based on her resulls above, which ons of the materials is the most suitable for making a container to
kaep hot soup wanm for the longest time?

@ ¥ @ z
~ END OF BOOKLETA ~
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Wﬁtayourme:sbﬂuaduw%b%mﬂaespamsprm

29.  The graph below shows the amount of oxygen found i blood samples taken from
vesssls P, Q, R 2nd S in the human body. ples four different blood

F 3
Amount of
oxygen
{units)
{(a) Based on the results, !abelﬂwckdeshﬁedwanbﬂow%ﬁmhbodvasds,? QR
and S to show the comrect movement of blood, Each fetter can only be used once. 2
Lungs

— ‘_ O

(b)  Staie the funclion of the heart in the circutatory system. I8}
{c)  Explainwhy the heart rate of a person increases when he exercises. W
~ Page20f 15
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30.

Amy conducted an experiment to measure the amount of oxygen present in the water of her fish
tank at different temperatures. She counted the breathing rate of the fish by the number of imes the
gill covers opened and closed, Her results are shown in the graph below,

Amount of oxygen {units) Breathing rate (units)
A A

b

v

Temperature (*C) " Temporature (°C)

(3)  State the organ that fishes use to take in dissolved oxygen from the water. [1]

(b)  She abserved that the breathing rate of her fish increased as the temperature of the water

In the fish tark increased, Give a reason for this observation, 12
{c} Which variable did Amy changein her experiment? (1
Page3of 15

www.geniebook.com



Asyikin Latiff


The following diagram shows the different parts of a flower.

Alic conducted zn experiment with three flowers, X, Y and Z, frorm the same plant. She removad
differant flower parts from the three flowers as shown in the table balow vman ha e bsen

“Flower Parts removed
X AandD
Y BandC
z A, CandD

(a) State all tho flower(s), X, Y or Z, that will definitely not develop into & fruit. Explain your answer,
: 2]

{b) mmmagmwm,Manmmsmmemmmmm. 1}

www.geniebook.com
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The diagram below show the human male and female reproductive systems.

(c) On the diagram above, mark with an *X’ the part of the human reproductive system that

carries out the same funclion as part B in the diagram shown on page 4, i1}
(d) Describe how fertilisation tekes place in humans. H]
Page S5of 15
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The diagram below shows the fife cycles of insects R and S.

- (b)

{c)

{1
4-stage life 3-stage kfe
cycle ; cycle
1 1 i N
Adult with Adult without Adult with Adudlt without
] { { i
Based ony on your observations of the life cycles of Insects R and S, state another
difference between the young and adult of insects R and 8 that is not stated in the
classification chart shown shown. )]
State two similar characteristics betwesn insects Rand 5. 21
Simitarily 1:
Simitarity 2:

Page 6 of 15
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33 “megraphbebwshmsﬂaedmgesm&remofayoumpiar&abdﬁsseedieamdudug

ge m A'n aﬁmﬂ
Mass (g)
{- » Day
[
{a)  State how the mass of the seed leaves changes over time. Explain why. 2
{(b)  Explain why the mass of the young plant increased after day 57 M}
Page 7of 15
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The table below shows the amount of undigested food found leaving the different parts, V, W, X, Y
and Z of Peter's digestive system. Digestion starts when Peter chews s food at part V before

{a)

{v)

v W X Y z

100 |(a) w»suvso

Write, in the table above, the most likely mass of the undigested food leaving part W of Peter’s
digeslive system. m

identify part Z. Explain why the amount of undigested food remsined the same as & moved
frompatYio Z {1

www.geniebook.com
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35.  The diagram below shows the human digestive sysiem.

{a) Label theorgans in the boxes (i), {if), (i) and (Iv) provided below. 2
. ()
{0 '
{v)
| @
The digestive system and circulatory system work togethier in the small intestine.
(b)i) Describe what happens to the digestad food in the small intestine. )
b)) Describe the function of the circulatory system in the small infesting. [t}

Pagje 3 of 15
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placed it on a table at room temperature as shown in the

diagram below.

36.  Mary took a beaker of ice cubes and

After two minutes, Mary noticed some water droplets forming,

m

roplets were formed after two

Draw and iabel in the diagram abave where the water d

mimies,

(8)

Explain how the water dropiets was formed.

2

{b)

)

Explain why the water dropiets could not be seen after some Sime.

{c)

Page 10 of 15
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37.  Maryam set up a circult with 3 working batteries, 4 switches, 51, 82, $3 and S4, and 4 identical buibs,

W, X, Y and Z, as shown below.
< I P
52
| x®
w®
81
. e

(a)  State the switch{es) that must be closed in order for only bulbs, X, Y and Z to light up. {1

Maryam then made a circuit card with 6 contact points, P, Q, R, S, Tand U, using steel clips. The
wires under the drcult card are not shown,

Pt
1 circuit tester

She then connected the circuit tester to different pairs of contact points on the circuit card to see if the
buib Jights up. She recorded the resufis in the fable below.

circuit card

Points connectedtothe | Did the bulb
PandS _Yes
RandT - No
QendR____ Yes_
Rand$S v Yos
Q and U No
(b} wmmmm,dmmvmmWMﬁmmmmmmt
points under the cireuit card in the diagram bolow. {1
<_Js
<Jr
R <[u
Page 1t of 15
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38.  Sebastian set upa cicuit with 2 working batieries, 3 ideriical buibs, X, Y and 2, and sirip M, a5
below. He observed that ol fhe bufbs wero i up whon o awileh was Scaes ) S1TP M, 38 shown

Y

il

{a)  What malerial is strip M most likely made of? Explain your answer, 11

A fow days later, he observed that all the bulbs did not light up, He tested the electrical
the butbe hod frasd and 2 0fthe bulbs wore in working condiion.He conciuded het 1 o

(b)) 1dentify which one of the bulbs had fused. 4

T i1

Page 12 of 15 |
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39.

Hui Ling set up 2 circuils, J and K, using the same number of batteries and identical bulbs.

In circudt J, she used one amangement of bulbs. Sha changed the nuniber of bulbs in the circuit before
measiing its brighiness using the data logger.

In cirouit K, she used a different arraﬁgement of bu!bs, She also changed the number of bulbs in the
circuit before measuring its brightness using the data logger.

She then recorded the brightness of the bulbs in both dircyifs in the table below,

Number of bulbs
1 2 3 | &
Brightness of bulbs in Circuit J(units) | 30 | 15 | X | 75
‘Brightness of bulbs in Clrcuit K (units) | 30 | 30 | 30 | 30

(a)  Based on the information above, state the aim of Hut Ling's experiment?

M

{b)  Whatis a possible reading of X7

(1

{¢)  Based on the rasulls above, how did Hui Ling arrange the bulbs In both Circuits J and K7 [1}

Clrouit

4

{d) Suggastanedaangetomedmuﬂthatﬂau\gcandotoinmmebnghmessofthebuibs

in circult K without temaving any bulb from the circuit. Explain your answer.

{2

Page 130f 15
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Evelyn mads an electromagnet as shown in the diagram below,

Power supply ’

stoel dips

g

aluminium clips

She tested the magnetic strength of the electromagnet and recordad her results In the table balow,

| Alyminium clips Steal clips
Number of clips atiracted 0 5

{a) Givearemnnmyihaeiec!mmaglmd!dmtamaﬁwmmwps. M

(b}  Without changing the distance between the sleciromagnet and the sieel suggest
Evelyn could have her sleciromagnet attract more stesl dlips oo, ' a“ﬁ{

o A
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{Continue Quesﬂon_' ; 40}

Thediagmmbelowshowsthedechmmgzeﬂcdeorm&ﬁ@elm’soﬁoe;

(e}  Explain how the electromagnelic door lock above works when Evelyn presses a switch to
open the giass door, {3

~END OF BOOKLET B ~
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S P 1% PAOY RON [PY y pg

’ﬂ£$

25(b) | The heart pumps blood 1o & parks of he body.

29(c) | The heart pumps biood rich in digested food/ axygen (o the difierent parts of her body
faster. OR The heart pumps blood rich in carbon dioxide/ wasted malerials
away from the different parts of her body faster.

30(a) | Gis

30(b) | The amount of oxygen in the water decroased 5o the ishes breather
ough oxygen. N

Sy | Tk enouch ooyen.

31(a) | Flower X and Z The sigma/ A and the ovaryl D have been removed o pollination and

ation cannot take place.
31(b) 31(c)

31(d) | A sperm / male reproductive cea fuses with an egg / female reproductive col.
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~32(a)

| The young of insact R does not ook Tike The adult but the young of insect S looks ke

the adult.

| Two similasities: Any 2 (have three body paris/ have six legs/ have hard oiler covering/ |

lay eggs have egy stagel have feslers/ mout)

33{a) | The mass of the seed leaves decreass as the seedling used the (siored) food/ mutrients
in the sesd jeaves, _
|_33(b)} | The plant has ieaves 1o make food. . ' .
| 34(a) 1100
| 34(b) [ Zisthe intestine. There is no occuring in Part Z
35(a) | {i) gullet (Fi) stomach
35(bi) | Digested food is absorbed into the blood(stream). in the blood
ik The circulatory system transparts the digested food/ nutrients fo all pars of the body.
a Syt
water (droplets)
36(b) | Warmer (surounding) walker vapour comes info contact with the cooler {outer) surface
of the beakev, lost heat and condense into walsr droplets. . .
36(c) The waler (droplets) gained heat {from the surrounding air} and evaporated.
| 37(a) | S2, 53 and $4
37{b) '
Q IT
R U
38(a} | Metal/ Steell Copper/ fron. It is an elechrical conducior.
38b({i) | Bulb X , N .
38 _When bulb X s fused, it bocomes an open circust 30 electriclty cannot flow through.
39 {a) | To find out how the arrangement of bulbs affects the brighinass of the bulbs,
[ 30(b) [7.5<X < 15unlts —
39(¢c) |J-Series K- Paralle! L A i
3%{d) }increase the number of batteries connected to the circuit so more electricily is Rowing
through each bulb.,
40(a) | Aluminium is a non-magnetic material. _
40(b} | increase the number of coils of wire sround the eleciromagnst. OR
40{c) | When the swilch is pressed, the electric circult is opened so electricity could rot Sow

| stoel piate on the door.

Hhrough the circult. The electromagnet is no longer magnelic so it does not attract the
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